
Finding anagrams:
This is the sketch



Finding anagrams:
This is the algorithm 
from above as 
interpreted by dgc.
Hashcode is the string
representation of an 
array of size max#chars 
with a count from 0 to 9
maximum characters of a 
kind. (What can you do 
if there are more than 9 
characters of the same 
letter in a word?)
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Nora
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Find a missing value:
large memory
n + n lg n solution



Finding missing 
value:
Very low memory, 
but slow solution



Rotating a vector 
(dgc):
Using an extra array 
of size n, keep 
track of j, the 
index of the 
original array, and 
k, the index of 
where to put the 
next value.

Notice, that only 
one value is being 
stored at a time, 
and once you copy
a value from the 
original array, the
value in the array 
is redundant,

So, just save a 
pointer to the first 
value at k in a 
temporary pointer, 
and use the old 
location to store 
the next value at 
index k.

Find the missing number:
The bit array, is a different
large memory solution that has an
order n sort mechanism: 
read in each number from  the file 
and use the number as an index to 
the bit array, then find the first
index that is 0 and that index is 
a missing number 
( I forget who brought this 
solution. Please claim credit.)



File based merge 
sort (dgc with 
class). What do 
you need to keep 
track of? Level? 
Number
of files at 
current level?
This needs to be 
fleshed out…


